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Bria) | GEBRRTIC (FD) | El= (BH/HK) | XS TR

06:40 120 50.0 &= BRi%e06:40 (KRFEREE)
09:25 120 50. 0 = BRi%@09:25 (RFIFERER)
=2it| 240.0 %) 100. 0 B 3#KEC: 1930.0, PH: 6.3

TERRHEM 8 STEAEARR (77.0 : 55.0), AJRERT—@E XA 4
FORGEBRRTC (120. 0) 5T8A (109. 0) N, FIREHR T % WREERSHXER
ERIASSFRIZEBES5. 0 ml.

large discrepency for begining water status (37:222.0), set to 74.0 ml.



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=10 (2025-04-08)

------------------------------------------------------------------------------------- L 600
VI, V3BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
40 - ~
350 380 L 400 &
40 E
20 - 200 E
L. 88
I Warning: lcol [FVI',| "FVO’'] missing
100 + L0
¢ i ——— || 4 30.0
75 4 FRV — maxM
-27.5
L e st S e —— | i —| E— | S | S———— ————— e ————————— ——— i 25_0:
25 - | = I T\ -22.5
1.0 “ I “ 20.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2300. 0,  TargetSetEC=1930.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.3 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
908 5 ;
Bylnit @D1p 02:41: ET=113 |[Fg=150.0 Ro=11.0 t =
75 : - 400 &
i 2
50 - : E
: - 200 —
25 - i 4 & o o —o “§J
1 o
.____.____2f : !F 2! ': ‘Wlkk“44#N‘\\N____;\\\\\““——
108 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
i | B | B | B ||| BB 8 i 5 5 5 i 5 = | BB | BA | BH | BB | BA | BH | FR =
75 A I | c
ByEt @10 18:31: ET=176 Fg=371.0 Ro=nan o—o—o—oio—o—o—o—o 400 s
~
50 | <
: - 200 —
wl
25 1 L g—9—o—0—9 5
o oo o o ¢ |
108 3 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
BB | Bz B | B |[2x|Z2=5=] B 5 | 2c |22 |%=| FH | FH | FBR | BB | BB | BB | BH | BH | BH =
75 A I | c
ByWoFv @D18 02:41: ET=88 Fg=100.0 Ro=6.0 400 s
~
50 - : E
: - 200 —
25 i uEJ
1 —8% & —§ 8 3
—o—o—Lo—o—o T—
1.0 s 2 > S 0

0.6

0.4+

0.2~

1800

|
| _obs
PPFD_obs




m=480, FV0=0 m=540, FV0=0 m=600, FV0=0

we | 2407 24.2 - e NE —e— MNE
24.0 -
23.8 - 24.1 -
23.6 - 24.0 1 2351
23. 4 - 23.99 23.0 -
v 2 23.8 -
e 22.5 -
23.7 -
21 1 23.0 -
= ME T 5364 22.0 -
T T T T T T T T T T T T T T
500 600 700 800 900 480 485 490 540 545 550 600 605 610
m=690,m FV0=0 m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0
o— WE | 277 o— WE | 2287 o— WE | 2287 — IE
22.5 22 6 - 22.7 19 22.7 1
22.6 -
22.5 - 22.6 -
22.0 - 22.5
224 - 22.5 -
224 -
21.5 4 22.3 99 3 - 22. 4 +
22.2 - 22.2 - 22.3
T T T T T T T T T T T T
690 695 700 720 725 730 780 785 790 840 845 850
m m=480,m FV0=0 m=540,m FV0=0 m=600,m FV0=0
23.2 —— MW —o— MW
23.5 23.6 i
93,0 4 23.6
23.0 - 22. 8 A 23 4 -
23. 4 -
22.6 -
22.5 - 23.2 -
22. 4 - 23.2 -
22.0 1 22,2 - 23.01
—— MW —— MW 2304
500 600 700 800 900 480 485 490 540 545 550 600 605 610
m=690,m FV0=0 m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0
—o— MW 23.5 1 —o— MW —o— MW 23.6 1 —o— MW
23. 4 1 23. 4 1
23. 4 -
23. 4 -
23.2 4 i
23.3 93 9 -
23.2 -
23.0 23.2 1
23.0 9304
23.1 -
22.8
23.0 - 22.8 - 22.8 -
690 695 700 720 725 730 780 785 790 840 845 850






P3-1

BfE] | FEBRETC (F)) | EBRE (EH/HK) | XK R
08:50 120 50.0 | =& BR1%@08:50 (KAL)
=23+ 120.0 (13%) 50. 0 3ZGHKEC: 1900.0, PH: 6.4

HERRHERESFEEART (77.0 : 56.0), AaERF—@E XAHS
LRGERRET4C (120. 0) 57148 (106. 0) °FF, FAEH T S ARG EIRS 2 XER
BRI\ L FRIERES6. 0 ml.



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=9 (2025-04-07)

------------------------------------------------------------------------------------- L 600
VI, V3BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
40 - —
350 350 - 400 ©
£
20
- 200 2
92 -
I Warning: lcol [FVI',| "FVO’'] missing
100 + r0
¢ Vi —— ME {300
75 - FRV maxM
-27.5
(I e ettt st s—— i‘l‘"'l'"i'l'""‘l- ——————————— e ——————] _25_0”2JI
1.0 20.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2300. 0,  TargetSetEC=1900. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6. 4 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D1p 02:41: ET=108 [Fg=100.0 Ro=5.0 t =
100 : L 400 &
: N
I E
50 : - 200
. oo o —0—=o g
I — o e e o e e & o 3
—— o—-© — = ]
0 S e _la o S . | 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
BH | BH | BH | BB | BB | W5 | W5 | 5 | B | B i 5 5 5 i 5 5 5 i 5 5 5 i 5 >
100 - L 400 ©
ByEt @9 18:08: ET=183 Fg=385.0 Ro=nan =
~
E
50 - 200
5
(6]
p—— =] © & S
0 V= P2t V=N V- V= V=N 0
0 1 2 3 4 5
PR 1 PR | BB | B [ZR|(Z2E|Z25|Z25|Z2Za|Z25[Z25]| B 5 5 i 5 5 5 i 5 5 5 i 5 >
100 I <
ByWoFv @D18 02:41: ET=92 Fg=50.0 Ro=0 - 400 2
~
| E
50 : - 200
! oo —eo—& —© £
(6]
p—— &—-© & \ @ o— &o—o—©& 4 @ 4 @ @ e @
1.0 P o la PN P P —— —— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
osl A1 B | | B |ZF|(ZR |5 (- |[ZT|ZE[(%T] B 5 5 i 5 5 5 i 5 5 5 i 5
0.6 -
0.4 1
0.2 A
0.0
1500 3 — | t
[ ] | _obs
—@— PPFD obs

hour




m=480, FV0=0 m=540, FV0=0 m=600, FV0=0

- ME —8— VNE | 535 - ME
93.0 - 23. 25
23.00
22.5 - 23.0 -
22.75 -
22.0 -
22.50 22.5 -
21.59 2295 -
22.0 -
21.0 1 22.00
T T T T T T T T T T T T T T
500 600 700 800 900 480 485 490 540 545 550 600 605 610
m=690,m FV0=0 m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0
22.7 o— mE | 226 o— mEe | 223 o— mE| 221 — N
22.6 - 99 9
22.5 - 22.0 -
22.5 -
22.1 -
22,4 - 22. 4 21.9 -
22.0 -
22.3 -
22.3 - 21.8 -
99 9 21.9 -
2.141@ 222 - 21.8 1 21.7 1
T T T T T T T T T T T T
690 695 700 720 725 730 780 785 790 840 845 850
m m=480,m FV0=0 m=540,m FV0=0 m=600,m FV0=0
—— MW —— MW —o— MW
23.5 1 23.2 1 23.6 23.6
23.0 -
i 23. 4 -
23.0 . 03 4 -
| 29 6 - 23. 2 A
22.5 23.2 -
224 -
23.0 -
22.0 - —o—
L EPYPR 23.0 -
500 600 700 800 900 480 485 490 540 545 550 600 605 610
m=690,m FV0=0 m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0
o— mu | 236 o— mu | 235 o— mu | 236 — NN
23. 4 1 23.5 - 23. 4 -
23. 4 -
23. 4 - 23. 3 -
23.2 1
23.3 - 23.2 - 23.2 -
23.2 - 23.1 -
23.0 - 93,0 4
23.1 1 23.0 -
22.8 - 23.0 - 22.9 - 22.8 -
690 695 700 720 725 730 780 785 790 840 845 850



